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DIPLOMA IN ELEMENTARY EDUCATION 
(D.EL.Ed.) 

oo 	 Term-End Examination 

tr) 

	 June, 2018 

o
BES-001 : UNDERSTANDING THE ELEMENTARY 

SCHOOL CHILD 

Time : 3 hours 	 Maximum Weightage : 70% 

Note : (i) All the questions are compulsory. 

(ii) All questions carry equal weightage. 

1. Answer the following question in about 
600 words. 
Define the term 'child' from different perspectives. 
Highlight the debates around childhood. 

0 R 
Discuss the teachers' role in providing an enabling 
learning environment to children coming from 
difficult contexts, giving suitable examples. 

2. Answer the following question in about 
600 words. 
Discuss the stages of Psycho social development 
of an individual as given by Erikson. Explain the 
role of play in the social emotional development 
of children. 

0 R 
Discuss the various research tools that a teacher 
can use to understand children in her classroom 
and organize her classroom in a way which is 
more sensitive to children. 
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3. Answer any four of the following in about 
150 words each : 
(a) What are the different types of play ? 
(b) Explain the ecological model of human 

development. 
(c) What is Vygotsky's Socio-cultural 

perspective on learning and cognitive 
development ? 

(d) Describe the concept of patriarchy, using 
suitable examples. 

(e) Discuss the commonalities and diversities of 
childhood. 

(f) Discuss the meaning of 'inclusion' in an 
elementary school. 

4. Answer the following question in about 
600 words : 
Discuss the role of teachers in "inclusive 
classrooms". Suggest measures to overcome 
barriers in inclusion of children with special needs. 
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